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CHALLENGE　CLUB（1/6）

4Gr.Time Attack 2回目4Gr.Time Attack 2回目4Gr.Time Attack 2回目4Gr.Time Attack 2回目
 Lap Time Chart Lap Time Chart Lap Time Chart Lap Time Chart

2017-01-15

WEATHER :   Fine

COURSE  :   Dry

国際レーシングコース

- 1 -- 1 -- 1 -- 1 -

     60     60     60     60 C5S C5S C5S C5S 加加加加加加加加　　　　雅雅雅雅雅雅雅雅                    ｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽGTR  PIT: GTR  PIT: GTR  PIT: GTR  PIT: 1111回回回回

  1=   2= 2'41.141   3= 2'22.369   4= *2'19.292   5= P3'10.066

     62     62     62     62 C4S C4S C4S C4S 黒黒黒黒黒黒黒黒　　　　　　　　剛剛剛剛                    京京京京京京京京京京京京京京京京R32GTS-T  PIT: R32GTS-T  PIT: R32GTS-T  PIT: R32GTS-T  PIT: 1111回回回回

  1=   2= *2'20.883   3= P3'35.906

     63     63     63     63 C4R C4R C4R C4R 紺紺紺紺紺紺紺紺　　　　瑛瑛瑛瑛瑛瑛瑛瑛        SSSSSSSS走走走走りりりりりりりりりりりり覧覧覧覧くくくくくくくくくくくくくくくく            ﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌZ  PIT: Z  PIT: Z  PIT: Z  PIT: 1111回回回回

  1=   3= 2'29.051   4= 2'47.226   5= 2'45.825   6= *2'28.295   7= P3'00.825

  2= 2'30.592

     65     65     65     65 C5S C5S C5S C5S 瀬瀬瀬瀬瀬瀬瀬瀬　　　　敬敬敬敬敬敬敬敬        よよよよよよよよよよよよくくくくよよよよよよよよよよよよくくくくよよよよよよよよよよよよ。。。。            ｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽｽGTR  PIT: GTR  PIT: GTR  PIT: GTR  PIT: 1111回回回回

  1=   2= *2'05.480   3= 2'34.909   4= 2'06.910   5= P2'47.031

     66     66     66     66 C4S C4S C4S C4S 知知知知知知知知　　　　良良良良良良良良                    ﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌﾌZ  PIT: Z  PIT: Z  PIT: Z  PIT: 1111回回回回

  1=   2= P2'39.882

     67     67     67     67 C5S C5S C5S C5S 長長長長長長長長　　　　重重重重重重重重     964      964      964      964 3.63.63.63.6ﾀﾀﾀﾀﾀﾀﾀﾀﾀﾀﾀﾀﾌﾌﾌﾌ        PIT: PIT: PIT: PIT: 1111回回回回

  1=   3= 2'15.401   4= 2'26.268   5= 2'15.252   6= *2'14.378   7= P2'47.452

  2= 2'16.228

     68     68     68     68 C4S C4S C4S C4S 田田田田田田田田　　　　　　　　寛寛寛寛        限限限限限限限限にににににににににににににににににににににににに！！！！            ｵｵｵｵﾀﾀﾀﾀｵｵｵｵｵｵｵｵｽｽｽｽﾌﾌﾌﾌｵｵｵｵ&&&&制制制制制制制制制制制制&&&&MotysMotysMotysMotys････7  7  7  7  PIT: PIT: PIT: PIT: 2222回回回回

  1=   2= *2'13.828   3= P2'54.118   4= 10'46.377   5= P3'43.445


